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The question paper is in the form of test booklet. All candidates will be assessed on identical questions.
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Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Black or Blue) for writing /
shading / bubble on OMR sheet and marking your answers.
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A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On

completion of the test tear the OMR Answer sheet along the perforation mark at the top and handover the
original OMR answer sheet to the invigilator and retain this duplicate copy with you.
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Each objective question is provided with a text and/or figures wherever applicable with multiple answer
choices (a), (b), (¢) and (d). Only one of them is correct.
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1. fEse #1 180° d% Uaid g1 & o, 39 aXaTal W T # UG fes & 87
The type of hinge used for fixing a window shutter to swing up to 180°
(a)  &c g9/ Butt hinge (b) T @9 / Piano hinge
(c)  uifeiade fgs1 / Parliamentary hinge (d) Gﬂ'@&ﬁﬂlﬁ/All the above

9. O Pl W Bl TS 1 52

The unit of Kinetic viscosity of fluid is
(a) N sec/m? ‘ (b) cm?sec

(0 One Dyne (d MPa

3. e W IR SR T I UF AGAHR Wi SR H FHEieR Sa T g | U Qe b WY wR R 5e

TR GHF 8, O, 5e Wk G &b b P Halg o1 gri?

A rectangular plate is immersed in water vertically having breadth B and Height H. If the
top level of plate and water level are same, then the height of centre of pressure from water

level is
(a) 2H/3 (b) 3H/M4
(¢ 4H/3 (d 3B/2

4. IgOErd F sOEROr HIv T € 87

In Venturimeter the divergent angle is

(@) >UARG P />inlet Angle (b) <VaRkIGI B/ < inlet Angle
(c)  =WaR® HI0/ =inlet Angle (d) @ FeY T8/ No relationship exists

TA-03 3 March 2020
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wreeR B IuanT el w1on & g e i 62

Planimeter is used to measure

(V]

(a) &3Bd/ Area (b) 3 / Volume
(c) dars/Length (d) URf¥/ Perimeter
’ 6.  uwE P om R 490 52 E (@1 R 3ol e A gv) B, o, Y @ ok o g

bearing of the line will be
(a) S52049'E (b) S49°52’°E

\

If “Fore bearing” of a line is S 49° 52" E (assuming there is no local attraction), the back
(©) N 49° 08 E (d) NA49° 52 W
|

7 R S gEae S S Ui am SR STadH % HRU g 3 B ger 67

Which one of the following methods of levelling eliminates the error due to curvature and
refraction?

(a) TS Haad / Fly Levelling

(b) 3 UIET U4 UL WISE B oIF B Ul Bl YA Hd gY WHae/ Levelling by equalizing the
distance of back-sight and foresight

(c) o &1 &g / Check levelling
(d UNs FHAGH / Precise levelling

8. e figWaurd yaqe IR TN Yage $ N BT —————— B &

Angle between true meridian and magnetic meridian at a point is
(@) T fegard / True declination (b) Fa®1Y fGFUTd / Magnetic declination
(c) f&u / Dip (d) fe&@urd / Declination

9. e ge e ¥g AT OCSEE B ST ST S AE Y
The transverse slope that is provided in road for easy drainage of water is
(a) =349/ Super elevation (b) F&R/ Camber
(¢) e/ Gradient (d) Sude B IS Tol / None of the above

TA-03 4 March 2020
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10.

11.

12.

13.

14.

TA-03

TR 3¢ BT uleT aTe] fed & el g T1few?
Compressive strength of country brick should not be less than

(a) 10 N/mm?2 (b) 7.5 N/mm?2 (¢) 5 N/mm? (d) 3.5 N/mm?

17 i SRl HierE & 91y 2 M. & 18 39 & U6 QI oy $Ic &1 TS YUl 54T g ?
Moment of Inertia of a hollow circular section with outer dia 2m with wall thickness 1m is

(a) 1.48 m* (b) 1.08m* (¢) 0.74 m* (d) 0.64 m*

3T$.TY. 456-2000 & 3TIR e IGUIRIT et o USehdxul & ford It TAaH el fba T 872

According to IS 456-2000 minimum cover required for steel reinforcement subjected to severe

exposure is

(a) 25mm (b) 30mm (c) 45mm (d) 50mm

Fa wfaee & T & uRyIfta Tmad, St YR & TRIge S0 & st wia 4T e giar 8, o
HEATA 67

The strength defined as the maximum stress at which a steel section fails under repeated

application of load
(a)  fifd AT/ Fatigue limit (b) EUT TMZ / Impact strength
() @9\ / Tensile strength (d) wdteT I/ Compressive strength

Wi & Ffée @ &1 fegd gR1 A S 82

Specific gravity of cement is measured by

(a) ET-WAfAY %Ik /Le-chatelier flask (b) dTEehIE 3T / Vicat Apparatus

(c) Hifam /Sieving (d) 9T qreT=ar T&U / Air permeability test

5 March 2020
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15. U 30°% e gNviarel! Ha1 &1 FSHy ok Aiosa ured 3 a1a urd a1 e
For a sand having an internal friction of 30°, the ratio of passive to active lateral earth
pressure will be
(@ 1 b 3 () 6 @ 9
16.  FA-I (781 & yoR) B GE-11 (STGE ) F Ty ez o gt F 99 R T e o1 v wva gu
gl IR g
Match List-I (Type of soil) with List-II (Suitable foundation) and select the correct answer
using the codes given below the list.
¥l List- I =t List-1I
A. 9d8 R ¥ geg ga/ 1. YU 7td/ Raft foundation
Strong soil in surface layer
B. 3 & A1 3Ya oS § 98 b 2. QYadHd gien/
Y gefet el TR Isolated footing
Weak surface layer followed by rock at
shallow depth below ground
C YWRF TS Hicd ap [Ogduas Rad | 3. 3id I sifdaany
et Hal/ End bearing pile
Swelling soil in surface layer extending up to a
few meters below ground level
D. Gud [QUATT Weig Hal R/ 4, Yl fANHER/
Weak heterogeneous surface soil layer Under-reamed pile
Codes:
A B C D
(a) 1 4 3 2
(b) 2 3 4 1
(c) 1 3 4 2
d 2 4 3 1
17. ol & 3 st srafiie TR UeR Bl ga1 87

TA-03

Which of the following is the most expansive type of soil?
(a)  Te3T / Laterite (b) P Pied Hal / Black Cotton soil
()~ g/ Gravel @ e a1 / Sandy soil

6 March 2020
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18. GG o] B sliees Ui H wipd siftrwan srgesd e @ &2
The maximum longitudinal pitch allowed in bolted joints of tension member is

(a) Wee P g 1 16 AT ryar 300 AL S i B9 81 / 16 times the diameter of bolt or

300 mm whichever is less

(b) dlec $ S ST 32 T 3fuar 200 AR, S Hl $H 81 / 32 times the diameter of bolt or

200 mm whichever is less

() e @I Her &I 16 AT 3far 200 A, S ¥l SH 81/ 16 times the thickness of the plate or

200 mm whichever is less

(d) W B "I &7 32 AT Y4l 300 faeR, ot oft 3 81/ 32 times the thickness of the plate or

300 mm whichever is less

19.  Fe4158 415 T &7
In Fe415 what does 415 implies?

(a) fy=415 N/mm? : (b) fu=415N/mm?2
(C) fracture = 415 N/mm? (d) fsafe = 415 N/mm?

20. e ¥ = wmef & g RO ST &1 Qe o1 o7

The Bogue’s compound responsible for ultimate strength of cement is

(@ CsS (b) CsS
() CsA (d) C.AF
21.  wum it 3 S Ry o1 BT AT 3P TF HR Hl——— % Bl 8
' For first class brick the water absorption is ————— % of its dry weight
(a) 20% (b) 22.56%
. (c) 25% (d) None

TA-03 7 March 2020
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22.  fragrEe $YEE) : Wil 9o W yeT et & i @) guag ger w A yeet  F g | i
g |
BRU (3(R) : THS Bl e Hel & AT &FdT W MURa § iR Ydielt Jar &t $iAd &l Ju9y a1
3w & '
Assertion (A): The rates of settlement of building structures on sandy soils are faster
compared to those of buildings constructed on clayey soils.

Reason (R): The rate of consolidation is dependent on the permeability of soils and the
permeability of sandy clay is more than that of clayey soil.

(a) ‘@ g ‘R Gl Gel & 3R 3R’ ‘T &1 Ue! a0 § / Both A and R are true and R is correct

explanation of A

(b) ‘T 3R ‘IR TEl g 3R N T HI ?Eﬁﬁ'ﬁﬂ'ﬂi T8 & / Both A and R are true and R is not a

correct explanation of A

() ‘T el & 3R 3R TAd § /.A is true and R is wrong

(d) v TEd§ SR IR el T/ Ais wrong and R is true

23. YU MU (%) SIR WA & s BT Yt $H YR I S 82

Relation between void ratio (e) and porosity (n) is given by

(a) o=l () oot
n n

n n+l

L. d L

© ¢ 1-n GO n-1

24.  FHEITS IuSHR0 HT IuaT forerert fafor s & fog faan e 82
Casagrande apparatus is used for determination of
(a) @RS 941/ Plastic Limit
(b) “a M/ Liquid Limit
(c) BEERESIE Shrinkage Limit
(d) G'Q"iﬁﬁ HJ Pl Tel / None of the above

TA-03 8 March 2020
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25. 4 . T ¥ Ue FARR o7 # B8R W fpUia 20 fh=gT &1 Udfed UR SR dw H feardia
40 T =T HRE | SR HRHaT 3R SMUR WR &5 gyl &1 Ul sl

A cantilever beam of length 4m has a concentrated load of 20kN acting at the end and
40kN acting at the centre. Find the support reaction and bending moment at the support

(a)  60kN, 240kNm (b) 60kN, 160kNm
(c) 30kN, 200kNm (d) 30kN, 160kNm

26. TP M BT Y U6 SHD U U & sIel § | SHDT UaHT SUITRITGHT ?
The Bulk modulus of a material is equal to its shear modulus. Its Poisson’s ratio is

(a) 0.225 (b) 0.125 (c) 0.355 @ 0.5

27.  SiReTe & R dt & e e o1 Sifiwad A S T S 87
The maximum area of compression reinforcement in beam, without overlapping is given by
(d-effective depth, D-Overall depth, b-breadth)

(a) 0.04bd (b) 0.04bD (¢ 0.12bd (d) 0.12bD

98, TS, 800-2007 TRI I Tiepd UR P HRUI WY Ufcerer b SeHHHU YHITAT Ueh 19 TG BT aIal U
187
The effective slenderness ratio recommended by IS800-2007 for a tension member which is

subjected to a reversal of direct stress due to live loads is
(@) 180 1 3ifbdH / Maximum of 180 (b) 250 &1 3fABAH / Maximum of 250
(c) 180 HgAaH / Minimum of 180 (d) 250 FGAdH / Minimum of 250

29. UF o Fem H S TSRl $ Y Ugad &3 B sifieem e 12 A 8 1 o &3 @1 o
BT 87
Max diameter of bar used for helical reinforcement in a circular column is 12 mm. The

diameter of tie bar is

(a) 4mm (b) 6mm (¢ 8mm (d) 10mm

TA-03 9 March 2020
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30. G-I (g UgW) B FE-II (SR W) & rd firemsd ofR G & i 23 1 $is o1 SuhiT HRd §U
el SR g

Match List-I (Air Pdllutants) with List-II (Harmful Effects) and select the correct answer

using the codes given below the list.

gAMList-I FelList-11
A. SPM 1.3a grereter/
Blood Haemoglobin
B. NO 2 g1/ Vegetation
C.CO 3.%a9 Yureil/Respiratory System
D. SO: 4.Ma IRl
Building Materials
Codes:
A B C D
@ 348 12
(b) IR 3.4
(c) 3 2 1 4
@ 1 4 3 2

31. Qe vRieH T T @ A HEL: na = 40% 3Rnp = 60% AT § | earen [ MU BT ST T 7
Two soil samples A and B have porosities na = 40% and ns = 60% respectively. What is the

ratio of void ratios ea:es?
(@ 23 by 3:2

(@ 49 (d 9:4

TA-03 10 March 2020
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32, wEd BR W Y AF AR B BR W sifteman 7 o U $eleiaR i % dis & H uRad fhar S @
| o BR R o1 fadoor 9 fear s g

A cantilever beam is subjected to uniformly varying load having zero value at free end and
maximum value at fixed end. The deflection of beam at the free end is given by

(a) wL4/20EI (b) wL410EL (¢) wLY40EI (d) wL#30EI

33.  of §eT ufee 20 TR (@) 3R 10 THHE @dE) €, A SRIBaH ST Ufdee T BT ?

If the principal stresses are 20Mpa (tensile) and 10Mpa (compressive), then what is the
maximum shear stress?

(a) 30Mpa (b) 5Mpa (c) 15Mpa (d) 20Mpa

34.  gfE uYe YR S BT UG I SREU Rl 8, A, §17 W ArS R 7 ?

If the shear force diagram of a simply supported beam is parabolic, then the load on the
beam is ’

() THFEY Y faikd @l / Uniformly distributed load

(b) HHYITW Hofed @8 / Concentrated load at mid span

(c) HHHUTTW feparefia argy A / External moment acting at mid span
@ Y@® wud fafia fdaikd @S / Linearly varying distributed load

35. UH SR W frad IR G SRR o U biam i GaTs S afe gAY b1 Sl &, o ger e <ifs @
g

The length of the column, fixed at one end and free at other end, is doubled, then the Euler’s
Critical load gets '

(a)  SMIET '/ Halved

(b) TN EEIE / Doubled

() HA® % Bial & / Becomes % of original
(d) @I uRad el / No change

36. Iz HUSRT UR$ Uy TTe AR fuF e SR F MuR R i w e

What is the reaction at support of the propped end of a propped cantilever beam with
concentrated load at the centre?

ap op 3p 38
@ e ® 3 © == @ =

TA-03 11 March 2020
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37. Ul § Frefree srgedrst w fEeR sife/

Consider the following impurities in water

1) CO:

2)  ger-faume Aciferd =& / Finely-divided suspended matter
(3) THRD SR/ Disease causing bacteria

(4) 3Y®H &Rl / Excess alkalinity

U e SO B T SrggEiel @) ge BT Tel HH 1 Bl o7

The correct sequence of the removal of these impurities in a water treatment plant is
@ 1,2,34 b) 1,4,3,2

(c) 1,4,2,3 d 4,1,3,2

38.  SETY. 10500-1991 F SFTUR T oet & Srafie God JaNiA B Sfufar dr & 87
The desirable limit of residual free chlorine in drink water as per IS 10500- 1991

(a) 0.3 ppm (b) 0.2 ppm (¢0 0.1ppm (d) Nil

39.  GA-I HGE-11 & ary Fremsd ok 96l Sar g

Match List-Iwith List-IT and select the correct answer

! List-I HET List-II
A. 3ifshd @S HoIeil/ 1. YHH g¥ Ud §g HdTe uu/
Dead-end system Equal pressure and multiple flow paths
B. Teyumd/ 2. Traeafiae wgferd THH ae/
Grid system Both economy and reasonably equal pressure
Cc. foryomey 3. fAgeafddr td 9Reldl/ Economy and simplicity
Ring System
D. 3ue/ Radial 4. UG fdeRU Zonal distribution

Codes:

A B C D
(a) 3 2 1 4
(b) 2 4 1 3
(c) 3 1 2 4
(d) 2 1 4 3

TA-03 12 Marxch 2020
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40. OO ¥ RO o B F I0er HW F §1g FERied § § oy oy ¥ ey @ 7 sifdiean s
gm?

Neglecting head loss due to friction, which of the following pipe cross section have maximum
discharge

(a) O 2 . & $1 g / Circle of Dia. 2m
(b) A 3 dt. ured & wHarg YW / Equilateral triangle of 3m side
(c) |:| 2 . ured & =% / Square of side 2m

(d) D o 1 Fars oiik 1 1. 9 2 7, & IHMICR UIRd daTs &1 9Hdd / Trapezium of 2m height and
1m and 2m parallel side lengths

41. g |2 }z\/zﬁ ......... o0 =y, dl y &1 HHE &1 82

If JZ .'2 V2v2........c0 =y. Then find the value of y.

(a) 1.73 (b) -1.41 @ | 2 (d) o

42. G YET U qEt & wiead B, @ S el 1 ORI
If lines perpendicular to each other, the product of their slope is

(@ O b) 1 (@ -1 (d) o

43. wHE 99 ¥ THIRG 89 A el (REH) F R EU.456-2000 GRI WK Sible S LAH TS
1 87
The minimum grade of concrete (RCC) recommended by IS 456-2000 for concrete exposed to

sea water spray is

(a) M25 (b) M30 () M35 (d) M40

TA-03 13 March 2020
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44.  USHT hanie YamTH UY BT $seye fawsH @ gl 82

The output discharge from a single acting reciprocating pump is

(a) R fagei % g1y AR T8l & / Continuous with constant discharge

(b)  WeHM fausH / Pulsating discharge

(c) A ¥u A fawrfa AvaR fa¥sH / Periodically varying Continuous discharge

(d) i 3R U F AT Ta . R YR / Depends of the head and rated HP of the pump

45. -1 (Redw Q g arch argean) 1 Y11 (get e gfie) & e firemed ok wet Ik Il
Match List-I (Impurities to be removed from sewage) with List-II (Treatment unit used) and
select the correct answer

ﬁ' List-I Tﬁﬂ' List-II
A. S8 WaHH a¥g/ 1. fewfer fheee/
Large floating matter Trickling filter
B. RR-TIT 3fvid 9] / 2. WS FARBGRR/
Settle-able inorganic matter Primary Clarifier
c. Fciferd v 9%/ ' 3. Fedw/
Suspended organic matter Grit chamber
D. ﬁﬂﬁ!ﬁ@ﬁﬂ@ 4. ¥/ Screens
Dissolved organic matter
Codes:
A NBR C" D
(a) 3 aindl?8 1
(b) 3 4 1 2
(c) 4 3 2 1
@D 4 3 1 2

46. A P! U HSRAT BT HRU T 87

Temporary hardness of water is due to

(a) Yehe Td FRIES / Sulphates and Chlorides

(b) FEHC TG dEPTaHe / Carbonates and bicarbonates
(c) PTal-c Ud ebe / Carbonates and sulphates

(d) UPe Ud g / Sulphate and nitrates

TA-03 14 March 2020



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24l7

.7‘ HUMAN SPACE FLIGHT CENTRE SET
L]

Fud|isFa TECHNICAL ASSISTANT - CIVIL D

47. RN TRTIE e | G URid @), e ®1 dek /et 4 @/A. 9 Y I ¥ MR S e |
Ty 3 APpUsl & are THT & dioe IR 2 man 2 ol ags /A B wHE 1 @ i & fSl SRars |
ofe T Fae 59 T, T & RIS 91¢ G SiaR T Sl &, oY, 31 BTy URIid Bl Uehs wrRim ?

Vikas was having a cup of tea at the side of an empty street. All of a sudden Prashant(thief)
pickpockets Vikas’s wallet and starts running at the uniform speed of 4.m/s. Vikas realises
that he has been pickpocketed after 3 seconds and starts chasing Prashant at uniform speed
of 5 m/s. If Vikas can only run for 59 m after which he gets tired and stops, can Vikas catch

Prashant?

(a) ol B URId @I ghe4 | 1 1. A TH Sl @/ No, and he misses Prashant by 1m
(b) B, 98 UNd &1 59 . m'@lﬂT 8/ Yes, he catches Prashant in 59m

(¢ e a8 uid &) s § 2 T, ¥ Y& Wil ¢ / No, and he misses Prashant by 2m

() & 98 uxid $Y 58 . H usS Al ¢ / Yes, he catches Prashant in 58m

48, U 37T TR e, Ui e aU1 @ He fie § | a1 Frgfeas wu @ Fwred s ¢ 1 ), 3l e @ gn
B YU faeat 82

A bag contains four white, five red and six blue balls. Three balls are drawn at random.

What is the probability that all of them are red?

@ 1/22 ®) 3/22 © 2077 @ 291

9. [(Wginxdx =y, y S1AA 7182
II/2 = _ i
fo Sin x dx=y, Find the value of y

(@ 1 b 0 (¢ 0.50 @ o

TA-03 15 March 2020
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50. FIYEUIA® SYA(T) : W W & GIY B WY & o sild & gad & U Afe iR ot yury &
AT AT BidT § b WY Y 81 e &

BRUT (R) : Gd B! WY d0HH & fodtd fa=mo 8idt @

Assertion (A): The movement of two blocks of wood glued together with hot glue requires
greater and greater effort as the glue is drying up.

Reason (R): Viscosity of liquids varies inversely with Temperature.
(a) T 9 IR g I8! § 3R 3R ‘T & o Ugt fdaRur 8 / Both A and R are true and R is correct
explanation of A

(b) T T AR T Tl § 3R 3R T & fore 98t fgavur €Y 8 / Both A and R are true and R is not

a correct explanation of A.

(c) T B 3R MR AT & / A is true and R is wrong
(d ‘TIEdE 3R 3R Wel &/ A is wrong and R is true

51. ffefad & Q S fdawo w82

Which of the following statements are correct?

1. oo ofR g9 HYU YaTeEE uferd ag & R e R W anuid €1 & / Friction and
pressure drag depend upon the shape and position of immersed body in a flow

2. U TP Uad We & yaTe & R & THmiaR B 36T dl §, oY, 319 S0 IR 8l & / If a thin

plate is kept parallel to the direction of flow, then the pressure drag is zero

3. It U% Udd Wie Bl TARHM dXd & dedd @ Sl ©, o, T YU I 8l § / If a thin plate

is kept perpendicular to the moving fluid, then friction drag is zero
(a) aﬁﬁ132/land2only (b) Wfd’?,/land‘&only
() Had2a3 /2and 3 only (d 1,2a3/1,2and3

52. 3= U IR HH fags & g ov 59 UHR &) e i R it
For a high head but low discharge which type of turbine would you recommend?
(a)  ¥g oI UecH dsh/ Multiple Jet Pelton Wheel
(b) I e&sA / Francis Turbine
(c) HQIH R / Kaplan turbine
(d) T e/ Turgo turbine
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53.  [Y(sin@ + Cos@)d@ = &1 HH I 87

Value of fon(sinw + Cos@)d@ =

(@ 0 b)) 1 ) 2 (d 3

54. TP TH gaiid TP &1 f=ieb 1 araa FufiRa wifon forger i s 2 H, aa &1 o 4 . ofR Fur
3. ?

Determine the volume of frustum of a right circular cone whose top diameter is 2m, bottom

diameter 4 m and height 3m

(@ Tzm? ® 6xmd © b5zmd @ 4zm®

55. U guaren Ui fAfia w3 oo UTE® B 67 & O Wikl § | 31k, I8 20 They RIS dTe Udb g e
H 2 dier gu ! Fomaes o=t Biffd aXar 8 | afe U 31 @FTd .25 Ui diex & 3R U 3 nrd %11 ufd
dieX &, dl, T 100 [N 5T Y HSR Y 57 | GHard B a1 @ gt am?

A milk dealer decides to cheat his customer by adding water. Therefore, in a filled milk
container of volume 20 litres, he replaces 2 litres of milk with water. If milk costs him Rs.25
per litre and water cost him Rs. 1 per litre, what is the profit the dealer makes by selling

100such filled milk containers?

(a) Rs. 10,000 (b) Rs. 8,000 (¢) Rs. 4,800 (d) Rs. 2,500

56. F(x)=log (x3-3x2+4x-4) at x= 2 &1 HH &I 87
Value of F(x)= log (x3-3x2+4x-4) at x=2 is

a 0 b)) 1 {c) o (d) Indeterminate
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57. wHURud, Ut 10 A PR FTE el vaw Eif R Fimra g % o 1 ofgura Fm g

In a pipe, water is flowing at the rate of 10 m/s. What is ratio between the entrance loss and

exit loss?
(a) 0.5 b 1
@ 2 d 4

58.  27°CTR Wl &I oIl 1 BIchl 82
The density of water at 27°C is
(a) > lgm/cc ' (b) < lgml/ce
(c) = lgm/cc (d) @S TaY T8l / No relationship exists

59. Ut A ¥ fu A wuE usdl o SN [Far S e § | o iRa A argdl o SR U H Sied
¥ aTeh < g1 SfR sfen @ Sited W 81 archt 3 71 & e F T W, o, ursu & waw ofR el
& o < &1 @7 SruTa @ B 82
Three identical pipes are used to carry water. The ratio of head loss between the entry and

exit of the pipes, when the pipes are connected in series to the head loss when connected in

parallel is

@@ 1/9 ®) 9

© 3 @ 13
60. IT@GT S S I $g R PRRA §, ——— W YA SN 8

Buoyant force acts at the Centre of Buoyancy which is at the?

(a) fawafid ga &1 dgd / Centroid of liquid displaced

(b) 9P ST YR ST H5d / Centroid of the submerged portion of the body
(c) l'ﬁ GR F e bl &%® / Centre of gravity of the entire body

(d) % AT HEH / At the meta centre of the body
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5. it aegfiE T & Al F W i B A ST % RO i o1, I T 31 WO Sf e I % g vk 31

sprer S| Rt w3 T UeR @ 3fereR swR ST e It "I S|

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and

MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. wgﬁwﬁm‘%ﬁaﬁtw%%ﬁmAmgmgmg%%ﬁﬁmﬂm%,ﬁﬁaﬁ.m.m.ﬁﬁzm,aﬁwﬁ
RrEeT a0 due FE a2 YT T H W, IT-YIEehT H oI T AT S|

Question booklets have been marked with A or B or € or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not

be evaluated.

i ﬁwﬁwwaﬁw%wﬁw%%ﬁm%mmmélm@fsﬂa:ﬁﬁé’rwﬁl

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. suftufy sfie W aeaer F0 & Teal, whensdf % Iufeat e W e wis frgn g wamfl /o Tw & ae
& gEaTEr F g0

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.
Candidates should sign against THEIR names only.

9. qhen F ai@ § (1) B ey fifad when F Fa ot (2) go .0, IW e Friew w1 aww g qen
forelt off oftfeafa o arvaeff 3@ 7 & S

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.
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